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3. � X1, X2, · · · , X20 jk �E� V ar(Xi) = 1,lm+ P (|S| ≥ 10),no

S = X1 + X2 + · · ·+ X10 − X11 − X12 − · · · − X20.

4. p>?@< ξ ABqrqs�E�ntuvw=

p(x) =
1

2λ
e−|x−µ|/λ,−∞ < x < ∞, λ > 0,

l; Eξ x V ar(ξ).

5. �yz�{ k |}!"# pk = λk

k!
e−λ, ~�(|z}e��=yz!"#�W

p,p}!��$��jk!���yz!�(�� l�!"#$%�&

6. � X, Y
��jk���AB��u= k1, k2

!
χ2 �E��� X + Y .

AB χ2 �E���u= k1 + k2.

7. � (X, Y ) AB�� D = {(x, y) : 0 < x < 1, 0 < y < x} 5!CD�E�;���w ρ.

8. � X1, X2, · · · , Xn

��jk� Xi ∼ N(µ, σ2) (i = 1, 2, · · · , n).
��

X1 + X2 + · · ·+ Xn

n
∼ N(µ,

σ2

n
).
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